


PERTU TR SRS PR -2 I 3 9% LS red oS gl b SISl a4 ok p O3 blgl o

il JjL"l"JIJJJ?flJ JtrL EJJ_}"““‘SJ‘@"" LI:U'LE"LS.L&'.'J"”;"“:{JJ

oo
fix) = a+ ﬂg [(@q cos nx + b, sin nx)

P.:_.:L; aaba tha,.x A lejh_! agjh vl T ;.7JJL'J L '—-’JL:-‘f(x) Cb p':j;
fx) = fix + T)



ety Moyt il ol 3 gt o 5 430 e s (=, L) i o) i s 5 55

Pt Gy B ) pen fX) wglie ab i ) B b g 6 oKT s 4l il s fRHT)=S(R)

o0
fxy=ap + 3 (ancasmx + by sin mx)
n=\ T T

JJLS #-J:I_,--:*L,-ﬁ ‘J’_H-ILJ-L!.LA L.s'u.la.!l_” 3 n:Lﬁ.‘.‘....;H._»J..UJ..:-‘_’A nJ.:.ntJJ_,t L_.-.ityﬂbn 34 « Qg QTJ:J

.JJIL:.,_...L:-.::
Dy o Ol b3 o) g cad ('—-{—, -%:-) a3b 53 f(x) G\J b e jlade KL 3,5 Sag
\ Ti
@y = — fx) dx

T =Tl



b x dx
v f(x) sin =
T f Tiy

b, = =



s sy b 30 acC LGJT_;,::AaSr,.:;SuLﬁ:.Jﬁ_';. byl g el g Jal calis fns (o ».:..:li_}lu_;alf

\ +T
ag=?f< fix) dx
C

+T

n=,YY a2, = -Ff fx) cos Y‘;”.
C

x dx

+T
by = = _r fx) sin 22 x dy
Ty T



f'f(x)dx = qay r de + Y (a“ J" Cos ne dx + b, r sSin Aax n{r)
o ; —T n-\ —r g

b

R N
a, = = _j{(x)dx



ﬂJJSt......J).-.d'? COS X 42 L} (A-Y) sLL?__JJ L_:,.:.'I_).]G I'=xyxn dﬂi.:h wd- LS‘J‘!”II “-1-*-:!_)——:’ Ji'.’,‘:' :JJJJT s 3 Lgi_;'!

:V-:Jlj J"':LL_.FA :.:...;:.»C:;—..«;JJ&‘_S:._.M .::.!TJJ Aslﬁ;\;a Jbi'aiﬂ 15 == ;;Jl o

' (=]
f(x)cﬂsmxdx=a_f”cusmxcir+ Zﬁ [n,, chusnrcnsmxdx
ties H = —

- b 3
+ b, r sin xx COs Mix dx]
) 3

:rt-i__ﬂ-‘-! ‘__;71-’-'-1-:'-» -]r-Lg'rJ_; 3 n:l.é.:,...il” n.‘tﬁ_rfi._a Gy s JUS{;‘! L‘_,\-:!JL

f. cos nx cos mx dx = —— r cos (n+m)x dx + = J”' cos (n—mx dx
=M T —Ir T i A



rsin nx cos mx dx = L. .rsin (n+mx dx + -Lfsin (n=m)x dx
- ‘f - T -

n=m 3 -\5;_5: Jbi:_‘.l LRS- VR COS- VR - W G, ;_-,,_.._..:.Ji)iz‘l g Sob 0L g -5,,-:54-5‘,&5”-.'

'.{;._:__;i.‘l o gt =L 4..:'";.: .,._...'.n[L.

gy = L -rf(x) COs nx dx ' e S
7t -X



(AdSs 433 daal yaiin

LT Cals sy b ot <x < ¢ + Tojb o filx) st ()

Ll g glandad j b <x <+ Tajl of () Hfx) (Y)
3 PP U L < T TN JUPLC SR ML A g0

[ u]
Yn . Ymn
o + e CO§ ——— X + b, SIN —— X
0 ,,g'_.\(“ 7% & T )

a3 g 0 R0
il Ko g dbix SV f(x) (2
3 ) ey a3y o o aafe () 5 fo () 2l Ko e S 2L B




£(x) s B o bpai b sl Ll Ll by,

-V Jgoa

&l | abigy ag ap ba f(x) &b a1 59 b
TH Y J' i LT, 4 by Ynn Yo L6 4
f(x L al—l fx) ax| — fx) cos —% x dx | — f(x) sin —— x dx + By COS — X 4 sin —— x
_ Tiy T/

f(x) z4) L f fix) dx| — f f(x) cos i@- xdx 0 ag + 2 ay’ COoS il BN

T Jo <\ T

T/ t':.vm

£(%) 5 0 0 T f f(x)sml"'f‘lxdx 2 by 8in ==




Aol emiaay 0T i il J gt Mo a4zl g J3 b 4 (e

f)y=x, -a<x<nm

f(x)

I
e ok s wilh = e sk




dpmlimes [ bp w10 ctay, = 0 5 a9 = 0 V=Y e ‘-!‘-'-"il"‘""'L!JGb Sogppauw-ghbl o

Tty F"S
X S - 7]
— Jx)ysin —xdx; T = ¥xn
I =T T

+a ;
— f(x) sin nx dx

by

by

f:aﬂ=—J.'l sin nx dx

I=fxsinnxdx

rf(x) sin nx dx

ool <o a g (5 SILKN Gy ) eobizad

{ sin nx dx = dv { -—-Lcusnx=V
= " n

dx = du

X =U

I= uv—fvdu= ~ X cos nx —lmsnxdx
n n



=—cosnx+—";smm

=l[ cosnx+-—;-smm]
1

by = po ; cns(n:r)+—\1rsm(m)+£—cos(0)-—-:‘fsm(0)1

w2 €08 () = (=)', sin () = 0, (n = \X,X.) Sl 4y a3 L

by = .'.f.. (- = i eyt
Il‘"‘.Jh' (\ r‘) ‘L‘IJJ-"bn 40y ¢ ﬂo_f.ﬂp L‘;Jl.\g.rLﬁ-La
fix) = a9 + 2 (a, COS nx + b, sin nx)

fx) = S L (- sin

~—\n

f(x)= Y sin x — sin Tx+—:-sin1'.'x - .0



10 10
5 5
-10 -5 0 10 -10 -5 ") 10
-5 -5
-10 -10
10
5 5
-10 .5 7] 10 -10 -5 0 10
-5 -5 |
-10 -10




M s iy b b b a g e

fxy=x,0<x<Y=xm



+T
ag=lr fixyde; T = Yn
I'J.
IJ*(+T:-I
ap = — x) dx
o=z ) f(x)

o5 8 018 Oy Sadds 3y Job s SRS (oS 3 s 1 ke ST 4S ol guaily SUlS

Yoy A4
ag = . x dx = LI LY, R
Y Jg x| v 0



+T
ﬂx)ma P xde;T=Yxn,c=0

)
[
|-

c

T
ay —;-f X cO8 nx dx

0
:ﬁJJS‘J’JJ_}CJJ}J‘-:(Y)&MJJ lJI = foMIth;:;'l

X ... y
= 2 §in 7x + —y COS Nx
. n n

an=-3—[-’f-sinnx+n—‘rcc5nr]

an=-;‘;—[-‘;,"-‘-sm(m)+-,fvcm(fm)—§-sin(0) - 2 cos (O)]

11..4_)1: Cos Y =\ ysin Y =0 n=\%7.) Silueyl

ay = 0



l.r f(x)am-——-xdx T=xn,c=0

=

=—1-f x sin mx dx
/4
0035 o 515 gy (1) s L1 = § x sin nx dx J s

x . -
=—— CO8 NX + SiN nx
f - STHaR

by = - [— cos nx + n-:‘rsinm]

= X |
bn=;1—[ ::'cm(r:m)+-—"¢mn(\'m)+£-m(0) -lrsm(t))]

.leJEﬂf(YM}=\ _,Siﬂ(Tﬂﬂ)=o . (ﬂ= My .") Asdl e I.::-_’.T L.



fx) = ag + HE\(%mm + b, sin nx)

fix)y == + E—j—sinm
n=\ n

fiX) = & = Y sinx — sin Yx -~ - sin
T" e



Find the Fourier series of the square wave, for which the function over one period is

2

-1 ifi<z<l

1 .fl
f[:::]:{l if0<z <

The function is odd and has average value zero, with period T' = 1. Therefore, all a. vanish; one must only compute the integrals to find the by:

1
b = 2/ f(z)sin 2wkzx dx
0

1/2 1
= Ef sin 2wkx dz — Ef sin 2wkz dz
0 1,2

_ [ cos 2wk =3 i cos 2wkx =1
N 2k |, 2rk |1
. [ coswk N 1 N cos 2wk coswk
- | 27k 2wk 2wk 2wk
2 mk 1 1
= (E;inE 5 = ECDE whk L+ ECGS Zi'rk:)

mw
_{% if k is odd

0 if k is even,



1.2

Q.8

Q.6

Q.4

Q.2

=legaiunclion

24
SE
o4
S10
530
80




{f(x) = |x|
—-1<<x<1

{f(x) = |x|

—n<x<Tm

{f(x) = e*

0<x<2m

{f(x) = |e*|

O0<x<2m

Q999 (5 g (39 po5



